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—. Translate the following terminologies to Chinese and explain its meanings
(1) Standard Penetration Test (4%)
(2) Semigravity retaining wall (4%)
(3) fully compensated foundation (4%)
(4) differential settlement (4%)
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PY. Refer to Fig. 1. Assume that the wall can yield sufficiently
(1) Determine the Rankine active force per unit length of the wall (6%)

(2) Determine the location of the resultant line of action (6%)
I y=16kN/m’
z om ﬂ|=30°; C[':O

v____Groundwater table

Ysa=18kN/m’
@,=36°; ¢;=0

Fig. 1

71.. Assume that a retaining wall with its back face inclined at an angle 10° with the horizontal, as shown
in Fig. 2. The height of the wall is 4 m, and the wall friction & =20°. The failure surface of the sand
inclines 60° with the horizontal. Calculate the value(4%), direct (4%), and the position (4%) of the
Coulomb’s active earth pressure.
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Failure surface
=0

=30°
v=18kN/m’

4dm

Fig. 2
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